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Fill in the blank with the correct identity.
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Solve each equation over the interval [0°,360°).
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Solve each equation over the interval [0, 2m).
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State the amplitude, period, and the horizontal and vertical shift for each function.

graph.
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Solve the triangle. If necessary, round to the nearest hundredths.

25.  A=103.5° a=415 b=272 26. A=145 b=4 c=14
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Solve, If necessary, round answers to the nearest hundredths.

29. An artillery battery is at the top of a 150 foot cliff. If the enemy is located at an angle of depression of
16° from the top of the cliff, how far is the enemy from the base of the cliff?
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30. A 3 meter ladder is leaning against a house that is 1 meter from the base of the house.
(a) What is the angle of elevation? (b) How far above the ground is the ladder touching the house?
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31.  Shannon and Gabe are walking toward each other on a path through the park. The path runs east-
west. A hot air balloon is directly above the path between them. Shannon, sees the balloon when
looking east at an angle of elevation of 46°. Gabe, sees the balloon looking west at an angle of

elevation of 72°. If they are 55 yards apart, how far is the balloon from Gabe?
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32.  Two ships leave a harbor together, traveling on courses that have an angle of 115° between them.
One ship traveled 105 miles, the other ship traveled 210 miles, how far apart are the ships?
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Find the following information for the given angle measure.

33. -671° 34. 1274°
Quadrant: ___I___ Quadrant: E..
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°
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Convert to degrees.
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Convert to radians.
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Given the following point on the terminal side of angle 6, find the six trig functions for 6.
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41. (—>;, —20) -4y :“(_:‘?; =% 2 G, —231) =29
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Fcost =’_ql‘:‘_“ secO = M- 2856 = Y23 secO =_?;S_/F‘|'
;‘étané? = H_O/_Cl cot® =i/_q__o tand =—.LL-\/F+ cotd =_1r_/:_2"|
Find the values of the six trigongmt\eztric functions with the given information. y
43. sind =%j9 inquadrantll =12 44. tand = —% 3271 <B<2z IS I3
siné =_€ll_3 cscd =_\3_l_5 sinf = ib cscl = = /'3

12 cosf = H '5 secl = 61 l
tanf = 5/'12' cotl =’\216 tanf = —5} l cot@ = H 1-3
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45. Write the equation of the sine function that has an amplitude of 3, period of 8—375 , and is shifted up 5.

2
Equation: \_}: ?) sSi = (%) X 6

46. Write the equation of the graph to the right.

Equation: \-k = — 05 L‘ (7‘3 - \

47. Find the period of the function y = tan(3x - %) +5

Y= tan 3 (x="70) +5
/3

Solve. If necessary, round answers to the nearest hundredths.

48. The bearing from Carpentersville to McHenry is 57° and the bearing from McHenry to Palatine is
147°. If Carpentersville is 70 km from McHenry and McHenry is 180 km from Palatine, how far is
Palatine from Carpentersville? What is the measure of the angle formed at Palatine?
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49. Radar stations A and B are on an east-west line, 3.7 miles apart. Station A detects a planeat C,ona
bearing of 51° . Station B detects the plane at a bearing of 321°. Find the distance from A to C.




Find the exact value for each of the following.
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